T2 I T8 S 1 128.00 BRE% T
AHZ) 1| I B ) B VB = S 2 611.10 i EE A 7

IR T S 4 1095.39 [V
FRZE) IR B By HAR CB 1 8.24 it 52 W
PRI R S ke S 2 38.80 Mt =2
P 1 B By HAR S 2 59.80 M E=R2
PRI IR B B HAR S 1 45.36 Mt =2
P 1 H By HAR S 1 48.60 it 52 W
PRI R SE ke CB 1 38.88 Mt =2
P 1 H By HAR W 2 892.04 it 52 W
1| BH & T35 S 1 336.40 Tt

HOCHR PR W 2 52.45 it 5 22 Ve

FRER T S 1 1240.17 Mgt

TR T4 S 1 646.23 fhstaR

% O-1 S 1 173.00 IR G

THI

% ©-2 S 1 148.90 MR G

% O-1 S 1 173.00 Mt =2

s % ©-2 S 1 148.90 [FEs

T ©-3 S 1 646.23 Mt =2

T8 @-1.2 S 1 1204.17 it B 2 1

PhZE) I A CHE i) B OV s = S 1 490.32 [BEsa
P 1 AR G i) M OB = S 1 648.00 it 5 22 Ve

FZR) 1] e e CHE i) By OV 38 S 2 226.23 [T,
e 1] e T3 S 1 1440 M EE 72 1

(L R TR S 1 90 M2

HORUHD HAMEE W 2 133.09 [DEE

R HHEE w 2 159.413 M =2




PRESEE IS (T IR G L Gy

FTTEHE G D F & & BE% B (nd) EBAR
FOUHD HHEE W 2 74.53 T = 72 e
TZER /B U o A S 1 | 1,265.40 it 5% 72 Ve
TR ~—7 b Gafe R &) S 1 234.08 M 5= 72 e
HORHD HHEE w 2 44.56 MR 2 W
FOUHR [E L w 2 95.34 i = 72 e
HORHD HHEE W 2 150.64 MR 2 W
FOUHR HHEE w 2 54.65 M =2 W
AR L w 2 66.24 MR 2 W
I BIE S 1 | 3,630.26 it 5 2 T
BrER FHT. A S 2 663.92 it 2 I
THER FHIT. B S 2 | 1,066.50 it 7 2 T
HORHD INFRRL RC 4 | 5,237.69 T 355 A0
FOUHR e[F L W 2 66.24 FTRER &
244 T AR (TR 2 T - Al 9RER T ]
FTTEHE Fig i Bt B (nd) EBNE
HORHD T TLNT R 2 138.96 MR 2 W
FOUHR BT w 2 92.15 i = 72 W
it Ik L RC (BE=(A% 1) 5 | 1,774.56 M E= 2 W
it Ik [F L RC (B2 %) 5 | 1,774.56 M =2 W
i i) Wk FHAT RC 3 | 2,907.72 MR 2 W
it Ik T S 1 | 23,000.21 M =2 W
THER p=y: S 1| 1,113.14 it 2 I
B E R T S 2 | 1,937.25 i = 72 e
TR AT H BB T S 2 528.21 it 2 I
FOUHR BT w 2 129.60 M EE 72
)| I T S 1 306.94 it A= 72 Wt
BRUHD HEAT RC 7 785.05 M EEE W
e 1] B % S 1 248.46 Tt 7 Al
FOUHD INFERRAL B RC 3 | 1,818.59 T 55 il
HORHD INFRRL RC 3 | 4,200.05 T 35 A0
HOUHR HHEE W 2 58.51 T 55 il
TR T3 S 2 | 4,287.40 (= ijiE:
IR T S 2 862.70 T 555 it
TR T3 S 2 158.85 M Al 53R
BRI T S 1 | 1,376.12 T 555 il
RYFI FHAT S 2 755.20 M Al 53R




PRESEE SN (T SR G L Gy

FTAE H i i BE% B (nf) EBAE
IR FHET S+ W 1 153.00 (Bl
G0 T4 S 2 863.00 i 2 e
R BRE RC 1 67.00 it A= 2
KU T w 1 295.18 it 7 2 T
R0y IR W= RC 1 109.00 M =2 W
FB IR p=y: RC 2 820.10 it A% 72 W7
FBPIR BIE RC 2 1086.11 Mt A= w2
w21 I T4 S 1 306.94 it w2 Wt
B E R T8 S 1 1376.12 M EE 2 T
1 1E, B % 1 498.42 i = 72 Wt
N BIE S 1 1604.95 it 7% 2 T
7)1 T8 S 1 1185.11 M= 2 W
REA IR T S 3 4371.52 M =2 W
REA I T8 S 2 6754.16 M= 2z W
BRI AT RC 5 1300.20 it A= a2
KU FHAT S 2 755.20 it 2 T
THE IR T4 S 2 3598.18 M= 2
TR T4 S 2 | 4287.40 M2 W
PRZR) | IR HHEEE RC +S 2 455.83 (Bl
TR T8 S 2 158.85 it 5% 72 Ve
TR TAFHE i == AR w 1 162.60 M EE 72
TR T8 S 1 720.00 it 5= 72 Ve
TR R 2R S 1 135.00 M =2 W
TR FEBRIR S 1 350.00 it 7 2 T
TUERRT T S 2 2522.44 M =2 W
SRS B - E BT S 2 | 18129.74 it 2 T
TR TrA LRI RC 2 332.00 M =2 W
TZER HEI=E o= S 2 1707.24 it 7 2 Wt
TR HAT 1 == 5 S 2 249.70 M =2 W
TR I = S 1 372.10 it 7 2 T
TR pee S 2 463.19 M =2 W
TR T3 S 2 4287.00 [P ijiEd
TR T3 S 1 720.00 T 55 it
FRZS )| I % S 1 306.94 FTRER AT
BRI AT RC 5 1300.20 FliRER E
w21 I SRR RC +S 2 455.83 TR




224 i S SERE M =2 b - Ml sk 7t ]
FITAE Hi Fig i3 PEH HRAE (nd) EBNE
1R T S 3 1425.47 =&
FIE IR T RC 2 429.21 M =2 Wr
FIER T S 2 158.17 mZE2 W
T3 1, T RC 1 154.14 M EE 72 Wr
T IR B RC 1 851.81 i 2 T
THER B S 2 1866.00 M= 72 Wr
FIER T S 2 365.00 S0
AT BRx RC 3 1927.00 M= 72 Wr
T IR HHSHT S 2 371.35 M E 2 T
FZS )] I T S 1 168.93 TR 7
FZs )] IR T S 1 181.06 FHIRER T
TS| IR =y S 1 557.90 i 2
HER FLEESE RC 8 3009.00 TR T
214 B 3 s S [ R s W - A it ]
FITEH Fg s M B (nd) EBNE
RC 3 384.72
o oy mﬁ.aﬁ;;\[_ﬁ
HER e RC 4 3705.00 prentine
RC 4 1147.97
RC 3 1818.59
A fid il
RC 3 3295.38 By
RC 4 864.00
BEx
o RC 2 1038.00 )
AR it 7
RC+S 1 667.00
JENTESN
S 1 104.00
- HFEEE S 3 2828.10 HEvEays
RE=E S 2 514.04 FIRER E
S 3 1984.00
HURUER e M= 72 Wr
S 3 2029.00
HRUER LN=RiE RC+S 2 560.00 TR T
BiE IR N & S 1 254.44 it = 2 Wr
FIER W AR RC+S 2 819.71 it = 2 W
TR FHSHT RC 1 120.24 M =2 Wr

MRS TA 7RG F BT




